The power in (W) of the 10 V voltage
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For the circuit shown below, the value of Vx
(V) is:
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The power In (W) of the 10 V voltage source I8
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For the circuit shown below, the value of Vo (V) is:
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~ Question 3/5

For the circuit shown below, the value of Vx (V) Is:

1 (¥ L2




QUESﬁDI'I 4/5 Answeris mandatory

Find Ic(A)and Ve(V Jrespectively, for the circuit shown.

Ic=2.7343 +j2.5523.Vc = 12.7613 — j13.6716

Ic = 0.9870 + j1.2377,Ve = 7.4262 — j5.922

Ic=1.7737 — j2.6916,Vc = —2.6916 — j1.7737

Ic=1.9375+ j1.0677.Ve = 5.3386 — j9.6875

Ie = 2.0000 + §1.7320.Vc = 8.6600 — j10.0000
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Test name: EE 203 - Quiz 2 - For students Time left to complete the test: 0 h 22 min. 24 sec., -

QUEStiﬂﬂ 1f5 Answer is mandatory

What is the expression of i(t) in (A) in the circuit shown.

;-.,.+
& V]

Vi(t)= 12 cos (1000t) V s
kr - DC

0.8944cos(1000t +63.47) — 2

0.9231cos(1000t + 67.38°) — 2

2 8673cos (1000t —17.17) — 2

1.44cos(1000t — 53.13%) — 2

0.96cos(1000t +53.137) — 2
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Question 1/5 answer is mandatory

What is the expression of i(t) in (A) in the circuit shown.

0 0.9231cos(1000t + 67.38") — 2

0 28673cos(1000t —17.17) — 2

| ] 0.8944cos(1000t + 63.4 ) — 2

O 0.96c0s(1000t + 53.13") — 2




Questinn 10/15 Answer

Is mandatory

Using the SUperpusition principle, the Voltage V, under the ef;
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In the cireuit shown in Figure. 9. the current Iy =
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Question 2/15 Answer is mandatory

Vi, @s seen between a and b is equal to:

3 Q
10V * a
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In the circuit shown i is equla to
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O None of these
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Question 9/19 rnswer is mandatory

Find the equivalent capacitance
between terminals a and b in the circuit
shown. (All capacitances are in mF)
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In the circuit shown, V; equal to
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Question 4/15 Answeris mandatory

In the circuit shown, V. equal to

10Q




Question 9/15 Answer is mandatan

Find the equivale. t capacitance between terminals a and b in the circuit shown.
YL are in mF)

(All capacitances




.I uestion 3/15 Answer is mand atory
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EE203 Exams Group - 5... - In the circuit shown, V. equal to
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Questiun 10/15 Answer

Is ma ndatory

Using the superpusition principle, the voitage Vy under the ef,
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‘ The voltage of node 2 is equal to







QUES'HBH 13/15 Answer is

Mandatory

| The KCL equation obtained from the supermesh in the circuit shown js:
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Question 14/15 Answer is mandatory e
Using the principle of source transformation, the circuit shown can be simplified ir
source V, in '

series with a single resistor R. Find V,
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Vin @s seen between a and b is equal to

5
30V
3 L)
10V * a
| 2 €2 RL
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Question 7/15 Answeris mandatory

Using mesh analysis, find the current i
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Ry, seen between a and b is equal to
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The load impedance that maximizes the average power

drawn from the circuit, and the maximum
average power of Figure shown wqualto ...,
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—v(t)—i(t)

The figure shows v(t) and i(t) across a load. Then, phase shift angle in degrees is:
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QUEStiﬂﬂ 3f5 Answer is mandatory

The figure shows v(t) and i(t) across a load. Then, phase shift angle in degrees is:

v(t) Volt, i(t) mA —v(t) —i(t)
250 ' '

200

150

100

-100

-150

-200

-250

Time (sec)

30

-90
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(O 8 Watt absorbed
(O 10 Watt absorbed
O 10 watt delivered
O 12 Watt delivered

® 12 Watt absarbed
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Rth Seen between 3 and b is equal to




QUEBﬂOH 3/15 Answer is mandatory
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‘Question 13/15 Answer is mandatory

The KCL equation obtained from the supermesh in the circuit shown is:
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Question 2/15

V1 as seen between a and b is equal to
1




Test: EE203. Q2

In the circuit shown, the current i(t) du to
both voltage source is

S8 *mH

' 304

1(1) -

& — 30 : OV DO

Yi

Vi(t)=10 cos(10001) V

O

1(t) = 1.994¢cos
(1800t — 4.5 18
A

i(t)=1.8+4+ 1.857cos
(1000t — 21.87)

() None of these

i(t) = 3.590cos
(1000t ~—~11.1")
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Question 1/6 (3 )
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vi(t)=10 cos( 1000t) V
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'Questim' '31 13

Athree phase balanced voltages supply a A-connected balanced load. Given
I- l;',- e :_i-':_: ﬂ_- !

~ Assuming positive sequence (abc).

a o




Question 10/13

A load 7 draws 12 kw al @ power factor of 0.856 lagging from a 240-V rms Sinusoidal source. The
load impedance equal to ...

Q 1.65+j2.280

O 352+j2.120

Y

3.52-j2.120

O

() 1.65-j2.280Q

SUBMIT ANSWER
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| A three phase balanced voltages supply a A-connected halancad
. ' 'II'[ Zﬂ g T 2-‘:130 [] IIIII

Assuming positive sequence (abc).

a o
I i J
i 1 L Y
[ll'l 'I. { I._r,,*jl b oA
|' ""' Pl \

h o MR AR

Eul:nmpIEx power equals Lo .
#g [M lj i J?JH#FGJ il

|i|||”“[j] 1 d | |;_i_|“||



1 R T | : I
i e [ I*...:_;.',',. ] i
| '-_:'

| {

Zy= 2.4/36.87 Q.

Assuming positive sequence (abc)

}Ju

Wi H(

\g... | A three phase balanced voltages supply a Y-connected balanced load. Given

I|[

J l

”||’Ih'"“'"'i':-:., |




O

F
—
——
S
m—
Tl
>
-y
—
o _

=

0.005 U.01 0015 002 002 0.03 0.035

3 0.04
time,ms)

mam a FO@R DO




V = 250-V (rms), 50-Hz, Inductive load S = 5 kVA 20

. Where: 6] 27 02 -11°
] .
re—— S— . 'I 1
l l ; # l l i 1'. l. ‘
ﬁ"“"-.::hh_'"’“-;---_.. .' n_- :
Inductive \ Inductive . H““m:_‘” M‘."“‘*m...'

load Jivad \ ' I

| I,
(c)
€ Zoom imaage
Choose the correct answers.
IL = }‘H = ]1 :II'L I

= 17.154/ — 36.87°A

lc= 5.616Z —90°A
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Question 1/6

The source voltages v1(t) = —10cos(1000t +30° ). v2(t) = —Tsin( 1000t
capacitor Ve may found by one or more equations as follows.
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—307). To find the voltage aross the
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A load Z draws 12 kW at a power factor of 0.856 lagging from a 240-V rms slrgL
Impedance equal to
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() 1.65+j2.280
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aws 12 kW at a power factor of 0.856 laggin
vered to the load equals to .

g from a 240-V rms sinusoidal source. The appares
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Given the voltage of v(t )

LOOCos( wi }).V across the load
absorbed / delivered appe:

and the instantaneous power

ared as shown in the figure, The p(t) = p 4 ID1CO8( 2wt + Oy + 05) |




wow G o

Given the voltage of v(t )

LOOCos( wi }).V across the load
absorbed / delivered appe:

and the instantaneous power

ared as shown in the figure, The p(t) = p 4 ID1CO8( 2wt + Oy + 05) |




- T N =g W p -
: ; -r'|'| . -

Given the voltage of v(t) = 100cos(wt),V amtheloadnndﬂuhat! t s power absorbec
appeared as shown in the figure. The p(t) =P + [Sim{2m+ﬂv+ﬂn} 1

-1+t \ P \ ;_..
\-f'_ - A " \1': N
52::}- 0.005 0.01 0.015 0.02
time,ms)
@ Zoom image

tive power Q and power angle 6 ar;i:
:']

The values of reac

Q-=.. VAR,




QUEStiGI’I 4/ 5 Answer is mand atory

The v(t) and i(t) across a load are given by v(t) = 250cos(wt)V, i(t) =200cos(wt + 60" )mA , respectively. Then, the
impedance of the load in Q is:

625 +31082.5

0—31250.0

0+i1250.0

883.88 — ]883.88

1082.5 —j625.0

883.88 + j883.88

625 —j1082.5

1082.5 +i625.0

SUBMIT ANSWER




Question 1/13

A three phase balanced voltages supply a Y-connected balanced Ioﬂi ﬂl
Ven = 240220°V(rms), Zy = 2.4436.87 Q. |

-
|

Assuming positive sequence (abc).
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\af\zz
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QUEStiﬂn 2{5 Answer is mandatory

Find Ic( A )and Ve (V )respectively, for the circuit shown.

WV ¥
|
I
j P 1 —=-j5 0 -L. ¥
Ie &?

V. =10£30°v ()

-

N

Ice=2.7343 +32.9523.Vec=12.7615 — j15.6716

Ice=1.9375+31.0677,Vc=5.3386 —39.6875

Tc = 0.9870 +j1.2377. Ve = 7.4262 — j5.9221

Ic = 2.0000 +3;1.7320,Vec = 8.6600 — 310.0000

Te =1.7737 — j2.6916,Vc = —2.6916 — j1.7737

SUBMIT ANSWER
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A el

Sl ‘Aload Z draws 12 kW at a power factor of 0.586 lagging from a 240-V rms sinusoidal source. 1-1’55‘;'7.';-,-:'.,;
. reactive powers delivered to the load equals to MR e

-----

(O 15kVA

9 kVAR

O 14.02kvA

7.25 kVAR

® 2048kva B

16.6 kVAR

(O 7.25kVA

14.02 kVAR

i
'''''''''''







Question 5/5 Answer is mandatory

The figure shows v(t) and i(t) across a load. Then, the expression of the current i(t) is given in the form of:

v(t) Volt, i(t) mA —v(t) —i(t)
250 : :

S

200

i(t) =200cos(100nt — 60" )mA
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Test: EE203. Q2

Time left to complete the test: 0 h 11 min. 2 sec.

Question 5/6

The voltage across an impedance and
current flown through it are shown. The
elements may have extracted in series
are ......

100 S : : s . _
0 0005 001 0015 002 0025 003 0035 004

lime,ms)

() None of these

O

R =0.6250 .LL=3.446mH

() R=0.625Q ,C=34.458 uF




Test: EE203. Q2

Time left to complete the test: 0 h 11 min. 2 sec.

Question 5/6

The voltage across an impedance and
current flown through it are shown. The
elements may have extracted in series
are ......

100 S : : s . _
0 0005 001 0015 002 0025 003 0035 004

lime,ms)

() None of these

O

R =0.6250 .LL=3.446mH

() R=0.625Q ,C=34.458 uF
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~ Question 4/13

V = 250-V (rms), 50-Hz, Inductive load S = 5 kVA £0 . Where:
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< Test: Final Exam, EE0903203

Time left to complete the test

Question 4/13
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Question 4/13




ﬁ='FhE-'$E balanced voltages supply a Y-connected balanced load. Given Vab = 416£0°V(rms).
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A load Z draws 12 kW at
impedance equal to

-----

= (0 3.52-j2120

O 352+j2120

a power factor of 0.586 lagging from a 240-V rms slnuﬂ?n dal so
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Assuming positive sequence (abc).
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